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BACHELOR'S DEGREE PROGRAMME (BDP) 

Term-End Examination 

December, 2018 

ELECTIVE COURSE : ECONOMICS 

EEC-007 : INDUSTRIAL DEVELOPMENT IN 
INDIA 

Time : 3 hours 
	 Maximum Marks : 100 

Note : Attempt questions as per instructions given at the 

beginning of each section. 

SECTION - A 
Attempt any two questions from this section in 
about 500 words each : 	 2x20=40 

1. Explain the role of industrialisation in economic 
growth. Do you agree with the statement that 
rapid industrialisation requires a strong 
foundation of agriculture ? 

2. Discuss the strengths and weaknesses of Indian 
industry in the context of globalisation. 

3. In what respects the present industrial policy is 
different from the industrial policy revolution of 
1956 ? 

4. What is a multi-national cooperation ? Comment 
on investment by Indian Companies abroad. 
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SECTION - B 
Attempt any four questions from this section. 
Word limit in 250 words each : 	 12x4=48 

5. Define the concept and methods of measurement 
of productivity. 

6. Discuss the principal issues involved in pricing of 
industrial products in India. 

7. Discuss the different sources of funds for an 
industrial firm by way of equity. 

8. State in brief the factors that determine the size 
and location of an industry. 

9. State in brief two legislations relating to labour 
welfare in India. 

10. Explain the factors that hinder industrialisation 
in India. 

SECTION - C 
11. Write short notes on any two in about 100 words 

each : 	 6x2=12 

(a) Composition of labour force in India 
(b) Income elasticity for agricultural products 
(c) Trade Unions in India 
(d) Subsistence wage 
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